AHC Additional Private Secretary Hindi

Topic:- APSHIN_GA_23DEC_S1

1) If EAGER is coded as 51759 then how will CRAZY be coded ?

(1) 69187 2) 69185 (3) 39187 (4) 39185
A EAGER 151759 § %2 =g foran 51 ® df CRAZY &1 e 11 I 2
(1) 69187 (2) 69185 (3) 39187 (4) 39185

[Question ID = 1][Question Description = 101_APS3_23Dec_Set1_Shift1_Q1]
1. 1 [Option ID = 1]
2. 2 [Option ID = 2]
3. 3 [Option ID = 3]
4. 4 [Option ID = 4]

2)

Select the option that is related to the third word in the same way as the second word is
related to the first word.
Exercise : Gymnasiu:n :: Boxing : ?
(1) Ring (2) Bout (3) Rink (4) Bowl
o faseu gie S o v @ 39 YR Hafud § o9 TR g8 v el 9 HeEfud ©
Exercise : Gymnasium : : Boxing : ?
(1) Ring (2) Bout (3) Rink (4) Bowl
[Question ID = 2][Question Description = 102_APS3_23Dec_Set1_Shift1_Q2]
1. 1 [Option ID = 5]
2. 2 [Option ID = 6]

3. 3 [Option ID = 7]
4. 4 [Option ID = 8]

3) If O=1, E=17 and OPEN =46 then COURT = ?

(1) 30 2) 31 (3) 32 (4) 33
#fe O=1, E=17 991 OPEN =46 ¥ o COURT f5e& sU= &2
(1) 30 2) 31 (3) 32 (4) 33

[Question ID = 3][Question Description = 103_APS3_23Dec_Set1_Shift1_Q3]
1. 1 [Option ID = 9]
2. 2 [Option ID = 10]
3. 3 [Option ID = 11]
4. 4 [Option ID = 12]

4)



Select the option that is related to the third term in the same way as the second term is
related to the first term.

BJP : EMS::VOI: _ ?

(1) XRL (2) YRL (3) XLR (4) YLR

o% fadhed gL 7 dier 98 9 3 yR Hafid § 59 TR g0 98 U8 9% § Helyd § |

BIR BMIS: VOIS ®

(1) XRL (2) YRL (3) XLR (4) YLR

[Question ID = 4][Question Description = 104_APS3_23Dec_Set1_Shift1_Q4]
1. 1 [Option ID = 13]
2. 2 [Option ID = 14]

3. 3 [Option ID = 15]
4. 4 [Option ID = 16]

S)Ifa b Ch bt s the val f5ab+bc—ca
= & =it k tist
= 3 5 en wnat 1s the value O az—bz—cz
1) 5 ) = 3 = g =
(1) @ 3 . @
a b c 5ab + bc — ca
—_ = — = — 7
R = =2 S%Ha T T— 1 HIF &1 B -
1) 5 ) = 3 = § =
1 5 @ 3 B 5 @
[Question ID = 5][Question Description = 105_APS3_23Dec_Set1_Shift1_Q5]
1. 1 [Option ID = 17]
2. 2 [Option ID = 18]
3. 3 [Option ID = 19]
4. 4 [Option ID = 20]
6 Find the odd one out :
(1) KKImn (2) CCdee (3) GGhii 4) TTuvv
e | 9 fym g
(1) KKlmn (2) CCdee (3) GGhii 4) TTuvv

[Question ID = 6][Question Description = 106_APS3_23Dec_Set1_Shift1_Q6]
1. 1 [Option ID = 21]
2. 2 [Option ID = 22]
3. 3 [Option ID = 23]
4. 4 [Option ID = 24]

7)

3 %)
40% of 60% of 5 of a number is 504. What is 25% of 5 of this number ?

(1) 700 2) 180 (3) 350 (4) 360

. 3 . 2
T & F S I 60% FH140% 1 HH 504 T 1 =H &A1 & S W2 % o1 BT 2
(1) 700 2) 180 (3) 350 (4) 360



[Question ID = 7][Question Description = 107_APS3_23Dec_Set1_Shift1_Q7]
1. 1 [Option ID = 25]
2. 2 [Option ID = 26]
3. 3 [Option ID = 27]
4. 4 [Option ID = 28]

8) If CANDLE is written as D1IOEM2 then how would BEWARE be written ?

(1) C2X1s2 (2) A2V1S2 (3) A2V1Q2 4) C2v1s2

3 CANDLE %1 D1IOEM?2 g/ foaman S € 9 BEWARE &t ford warm foran smoom 2

(1) C2X182 2) A2V1S2 (3) A2V1Q2 4) C2Y1S2

[Question ID = 8][Question Description = 108_APS3_23Dec_Set1_Shift1_Q8]
1. 1 [Option ID = 29]
2. 2 [Option ID = 30]
3. 3 [Option ID = 31]
4. 4 [Option ID = 32]

%) Which number will replace the question mark (?) in the following series ?
3,8, 18.83,53,__ ¢
(1) 65 2) 78 3) 75 4) 68
7 gl 6 weA-fae o T W SE-H He S ?
81835532
(1) 65 2) 78 3) 75 4) 68
[Question ID = 9][Question Description = 109_APS3_23Dec_Set1_Shift1_Q9]
1. 1 [Option ID = 33]
2. 2 [Option ID = 34]

3. 3 [Option ID = 35]
4. 4 [Option ID = 36]

10 Select the letter that will replace the question mark (?) in the following series :
T,ONK _2

1) H (2) ] 3) I 4 G
=1 997t § &F | s1eR we T8 (2) 1 gfaeentua o ?

TLQONK _?

(1) H @) ] 3) I 4 G

[Question ID = 10][Question Description = 110_APS3_23Dec_Set1_Shift1_Q10]
1. 1 [Option ID = 37]
2. 2 [Option ID = 38]
3. 3 [Option ID = 39]
4. 4 [Option ID = 40]



1) Select the missing number from the given options :

21517
25(81|225
3147

1) 11 @ 9 3) 7 4) 8
for=1 fersedi & & foreqa Hem =1 9

2187
2581|225
3(4]7?

i i | 2) 9 (3) 7 4) 8
[Question ID = 11][Question Description = 111_APS3_23Dec_Set1_Shift1_Q11]
1. 1 [Option ID = 41]
2. 2 [Option ID = 42]

3. 3 [Option ID = 43]
4. 4 [Option ID = 44]

12)
Select the Venn diagram that represents the correct relationship between the following :

Jaisalmer, Jaipur, Rajasthan

(1) @ O (2) @ (3) . (4)

o 39 s g S Fretfafed e wd gy g )
SR, STAYY, TSTE

(1) @ O (2) @ (3) . (4)

[Question ID = 12][Question Description = 112_APS3_23Dec_Set1_Shift1_Q12]
1. 1 [Option ID = 45]
2. 2 [Option ID = 46]
3. 3 [Option ID = 47]
4. 4 [Option ID = 48]

13)



Which two signs should be interchanged to make the given equation mathematically
correct ?

60—-4x2+3+5=32
(1) =% 2y —, = (B) =+ 4) -, +
o 31 Foel 1 oo seAee | et gt =61 9@ fomen < Hepan € 2
60—4x2+3+5=32
() % % 2 -, + (3) +,+ 4 -, +
[Question ID = 13][Question Description = 113_APS3_23Dec_Set1_Shift1_Q13]
1. 1 [Option ID = 49]
2. 2 [Option ID = 50]
3. 3 [Option ID = 51]
4. 4 [Option ID = 52]
14)
Select the word that would be in the middle, after arranging them as they would appear in
the English Dictionary.
Realistic, Realism, Restore, Research, Resurge
(1)  Realistic (2) Restore (3) Research (4) Resurge
e wI=gl 1 STUST eCehiel & STIHN AT foRal ST 81 36 % § 92T UsE i MU
Realistic, Realism, Restore, Research, Resurge
(1)  Realistic (2) Restore (3) Research (4) Resurge

[Question ID = 14][Question Description = 114_APS3_23Dec_Set1_Shift1_Q14]
1. 1 [Option ID = 53]
2. 2 [Option ID = 54]
3. 3 [Option ID = 55]
4. 4 [Option ID = 56]

15)

The total of the ages of Abha, Prabha and Vibha is 60 years. What was the total of their ages
four years ago ?

(1) 56 2) 52 (3) 50 4) 48
1, g SR fae Rt ey o A 60 9 B =R ad qd g7 A Ry A AT A o1 ?
(1) 56 2) 52 (3) 50 4) 48

[Question ID = 15][Question Description = 115_APS3_23Dec_Set1_Shift1_Q15]
1. 1 [Option ID = 57]
2. 2 [Option ID = 58]
3. 3 [Option ID = 59]
4. 4 [Option ID = 60]

16)



Select the correct option that will come next in the given series :

<_<¢>_,.

3

m @ @ <“> o | @ | D

o8 faerey giu i <1 18 J@en § STl ¥IE 9 e ?

<_®_,.

=3

) <f> @ <‘> o | LI @ |

[Question ID = 16][Question Description = 116_APS3_23Dec_Set1_Shift1_Q16]
1. 1 [Option ID = 61]
2. 2 [Option ID = 62]
3. 3 [Option ID = 63]
4. 4 [Option ID = 64]

7 Find the number of triangles in the given figure.

(1) 8 @) 9 3) 10 4) 12
< Tt emeRta B foRan fage €2
1) 8 2) 9 3) 10 4) 12

[Question ID = 17][Question Description = 117_APS3_23Dec_Set1_Shift1_Q17]
1. 1 [Option ID = 65]
2. 2 [Option ID = 66]
3. 3 [Option ID = 67]
4. 4 [Option ID = 68]

18)



Which letter is exactly in the middle of the 18t letter from the right and the 15 letter from
the left in the English alphabet series ?

1) K 2 M 3) O 4 L
SIS S1aR dEel H $IF-91 3187 <€ AR Y 18 9 N & iR W 159 sielf & S A 4 §2
(1) K (2) M 3 O 4) L

[Question ID = 18][Question Description = 118_APS3_23Dec_Set1_Shift1_Q18]
1. 1 [Option ID = 69]
2. 2 [Option ID = 70]
3. 3 [Option ID = 71]
4. 4 [Option ID = 72]

19)
Which word cannot be formed from the following letters of the word NECESSARY :
(1) RACE (2) NICE (3) EASY (4) ESSAY
NECESSARY & 3181 <l YA shid 8¢ 101 H 9 Ty vIeg &l &1 T S &ehdl ?

(1) RACE (2) NICE (3) EASY (4) ESSAY

[Question ID = 19][Question Description = 119_APS3_23Dec_Set1_Shift1_Q19]

1. 1 [Option ID = 73]

2. 2 [Option ID = 74]

3. 3 [Option ID = 75]
4. 4 [Option ID = 76]

20)
If Wednesday falls on the third of a month then which day will fall three days after the 25t
of the same month ?

(1) Saturday (2) Sunday (3) Monday (4) Tuesday
3R forelt wiTE &1 0 T 9uem © 39 9’ | 25 9 fe7 & o9 feq =g &q-w e grm 2
(1) wfEr 2) IR (3) HHAR (4) HITER

[Question ID = 20][Question Description = 120_APS3_23Dec_Set1_Shift1_Q20]
1. 1 [Option ID = 77]
2. 2 [Option ID = 78]
3. 3 [Option ID = 79]
4. 4 [Option ID = 80]

Topic:- APSHIN_COMP_23DEC_S1

D Which of the following is not a internet protocol ?

(1) HTTP (2) FTP (3) STP 4) 1P
frefafed § 9 1 W 0% 22 Jieed @ ¢ 2
(1) HTTIP (2) FIP (3) STP 4) 1P

[Question ID = 21][Question Description = 121_APS3_23Dec_Set1_Shift1_Q21]
1. 1 [Option ID = 81]
2. 2 [Option ID = 82]
3. 3 [Option ID = 83]
4. 4 [Option ID = 84]

2)



Computers perform mathematical operations using the

number system.

(1) Decimal (2) Binary (3) Octal (4) Hexadecimal
Froget o gr Agdfesa wegfin & fad forg HE gorelt &1 S i 2
(1) SHHa 2) A (3) slRa  (4) THRISHEA

[Question ID = 22][Question Description = 122_APS3_23Dec_Set1_Shift1_Q22]
1. 1 [Option ID = 85]
2. 2 [Option ID = 86]
3. 3 [Option ID = 87]
4. 4 [Option ID = 88]

3) Which of the following is not the correct method of editing the cell content ?

(1) Prss the Alt key (2) Press the F2 key

(3) Click the formula bar (4) Double on the cell
frefafad #§ | ¥ shee % Fifed FE 1 98 T @ 2

(1)  Alt Fsil sl &M (2)  F2 it &l @

(3) HiHel IR W foereh T (4) 8 ol T AR foraes wE

[Question ID = 23][Question Description = 123_APS3_23Dec_Set1_Shift1_Q23]
1. 1 [Option ID = 89]
2. 2 [Option ID = 90]
3. 3 [Option ID = 91]
4. 4 [Option ID = 92]

4 Which memory of the computer cannot be altered :

(a) RAM (b) ROM (c) Secondary Memory
(1) Only (a) (2) Only (b)

(3) Only (a) and (c) (4)  Only (b) and (c)

Froget FH wE-d TEd gfiafda =& =t s g 2

(a) RAM (b)) ROM (c) Tedt=e Hed

(1) 3 (a) (2) Faa (b)

(3) FEE (a) 3 (c) (4) FE (b) 3R ()

[Question ID = 24][Question Description = 124_APS3_23Dec_Set1_Shift1_Q24]
1. 1 [Option ID = 93]
2. 2 [Option ID = 94]
3. 3 [Option ID = 95]
4. 4 [Option ID = 96]

®) Which of the following is not a common output device ?

(I) Monitor (2) Keyboard (3) Printer
e § FH-w wM sikeye feary o1 fakey et § 2
(1) HHRT 2) HiEE (3) fder (Hfga)

[Question ID = 25][Question Description = 125_APS3_23Dec_Set1_Shift1_Q25]
1. 1 [Option ID = 97]
2. 2 [Option ID = 98]

(4) Speaker

(4) FHT



3. 3 [Option ID = 99]
4. 4 [Option ID = 100]

6

‘)Nhjch of the following is not true about Input/Output devices ?

(1) These supply information to computers or convey information to the outside world
(2) They are also called peripheral devices

(3) They are also called interface

(4) They are part of the CPU

=1 § 9 gge/ omseye feareg & Hed § 9o @ ¥

(1) & FFE 1 g1 3MYfd 3 § IR awedl fava =61 go aefyg 3 §
(2) & Rt fearsy off weam &

(3) 9 TR FHEAM §

(4) AR F I

[Question ID = 26][Question Description = 126_APS3_23Dec_Set1_Shift1_Q26]
1. 1 [Option ID = 101]
2. 2 [Option ID = 102]
3. 3 [Option ID = 103]
4. 4 [Option ID = 104]

7). What is the full form of HTML ?
(1) Hyper Text Machine Language (2) Higher Text Mark up Language
(3) Hyper Text Mark up Language (4) Higher Text Machine Language

HTML 1 fersga &9 &1 2a1 & 2

(1) Hyper Text Machine Language (2) Higher Text Mark up Language
(3) Hyper Text Mark up Language (4) Higher Text Machine Language

[Question ID = 27][Question Description = 127_APS3_23Dec_Set1_Shift1_Q27]
1. 1 [Option ID = 105]
2. 2 [Option ID = 106]
3. 3 [Option ID = 107]
4. 4 [Option ID = 108]

8) The Operating system used by Apple devices is

(1) SOLARIS (2) Linux (3) Unix 4) i0S
e (Apple) feamrd (3) o F-4 FEfora gorett Sy i S € 2
(1) SOLARIS (2) Linux (3) Unix 4) i0S

[Question ID = 28][Question Description = 128_APS3_23Dec_Set1_Shift1_Q28]
1. 1 [Option ID = 109]
2. 2 [Option ID = 110]
3. 3 [Option ID = 111]
4. 4 [Option ID = 112]



%) Which of the following key is used rename the file ?

(1) F2 2) F12 3) F5
frefafaa & @ &F @ il wEd &1 A sgaq & fon ggeEd ad ® 2
(1) F2 2) F12 3) F5

[Question ID = 29][Question Description = 129_APS3_23Dec_Set1_Shift1_Q29]
1. 1 [Option ID = 113]
2. 2 [Option ID = 114]
3. 3 [Option ID = 115]
4. 4 [Option ID = 116]

10) Select the odd one out :

(1) C++ (2) Fortran (3) Pascal
AT I HIN
(1) C++ (2) WA (3) UERd

[Question ID = 30][Question Description = 130_APS3_23Dec_Set1_Shift1_Q30]
1. 1 [Option ID = 117]
2. 2 [Option ID = 118]
3. 3 [Option ID = 119]
4. 4 [Option ID = 120]

) On windows, what is the command to select the entire text ?

(1) Ctl+C 2) Ctl+B (3) Ctl+A
fa=si W, Trgul Toe (Wie) & = fow sm-dt ware (FEwr) ot €72
(1) Ctl+C 2) Ctl+B (3) Ctrl+A

[Question ID = 31][Question Description = 131_APS3_23Dec_Set1_Shift1_Q31]
1. 1 [Option ID = 121]
2. 2 [Option ID = 122]
3. 3 [Option ID = 123]
4. 4 [Option ID = 124]

1;;’11jch of these is not a common type of malware ?

(I) Worms (2) Nougat (3) Trojans
7 | |1 A YRR HIARR TR Q2

(1) = (2) e (3) FoFE

[Question ID = 32][Question Description = 132_APS3_23Dec_Set1_Shift1_Q32]
1. 1 [Option ID = 125]
2. 2 [Option ID = 126]
3. 3 [Option ID = 127]
4. 4 [Option ID = 128]

(4) F8
(4) F8
(4) Oracle
(4) SAHA
4) Ctrl+U
(4) Ctrl+U

(4) Backdoors

(4) wHSH



13) Who is the developer of World Wide Web ?

(1) Xander Harris (2) Stan Lee

(3) Tim Berners-Lee (4) George Lucas
g€ 15 99 %1 foehfdd T 9l iF 9 2

(1) Siet i (2) A

(3) feu aEAE- (4) SIS g™

[Question ID = 33][Question Description = 133_APS3_23Dec_Set1_Shift1_Q33]
1. 1 [Option ID = 129]
2. 2 [Option ID = 130]
3. 3 [Option ID = 131]
4. 4 [Option ID = 132]

14)

What is the numerical label, that is connected to a computer network, for communication
known as ?

(1) Simple Mail Transfer Protocol ~ (2) Real - Time Blackhole List

(3) Domain Name System (4) Internet Protocol Address

T -9 Heaees &R § 58, Frge 9egs 8 9o o i & o Jag #id § 2
(1) T 9 Zigw SR (2) U< 2rH e foree

(3) EMd 94 fawn (4) AL UiEihiA TeH

[Question ID = 34][Question Description = 134_APS3_23Dec_Set1_Shift1_Q34]
1. 1 [Option ID = 133]
2. 2 [Option ID = 134]
3. 3 [Option ID = 135]
4. 4 [Option ID = 136]

5 Who developed the first mechanical calculator ?

(1) Charles Babbage (2) Blaise Pascal

(3) Ada Augusta (4) Herman Holorith
fepea #ifsre witerers =1 veell IR fosfea oo ?

(1) =red sres (2) =S UREHA

(3) TSI (4) T TR

[Question ID = 35][Question Description = 135_APS3_23Dec_Set1_Shift1_Q35]
1. 1 [Option ID = 137]
2. 2 [Option ID = 138]
3. 3 [Option ID = 139]
4. 4 [Option ID = 140]

16)
In which State of India is the first fully computerised village located ?
(1) Kerala (2) Karnataka (3) Haryana (4) Maharashtra

Rd % ford T B quia: sreeedd TiE Tafied § 7
(1) hta (2) AlH (3) =i (4) HERTZ



[Question ID = 36][Question Description = 136_APS3_23Dec_Set1_Shift1_Q36]

1. 1 [Option ID = 141]

2. 2 [Option ID = 142]

3. 3 [Option ID = 143]

4. 4 [Option ID = 144]

7 The technical problem Y2K is known as the :
(1) Arian 5 Bug (2) Patriot Missile Bug
(3) Millenium Bug (4) Gangnam Style Bug
TeRIeh! T ‘aE2e " il foRe ®Y H ST S € 2
(1) TR 590 (2) Hfewe fagra o
(3) foeifm =m (4) TH REA o1

[Question ID = 37][Question Description = 137_APS3_23Dec_Set1_Shift1_Q37]

1. 1 [Option ID = 145]

2. 2 [Option ID = 146]

3. 3 [Option ID = 147]

4. 4 [Option ID = 148]

18)  Which of the following is not an example of a Micro Computer ?
(I) Q-Bit Computers (2) Personal Computers

(3) Laptops (4) Electronic notebooks
freTad B -1 OTgsh! TR 1 SR TE § 7
(1) =-Tae Froped (2) THAE FEEH
(3) TR (4) sARIH AT
[Question ID = 38][Question Description = 138_APS3_23Dec_Set1_Shift1_Q38]
1. 1 [Option ID = 149]
2. 2 [Option ID = 150]

3. 3 [Option ID = 151]
4. 4 [Option ID = 152]

19) In Microsoft Excel, what is the shortcut to hide a row ?

(1) Ctrl+1 (2) Ctrl+5 (3) Ctrl+8 (4) Ctrl+9
‘oTEeh] At TeYe B Ufe 1 gum & fau wiid %2 Fn dan € 2
(1) Ctrl+1 (2) Ctrl+5 (3) Ctrl+8 (4) Ctrl+9

[Question ID = 39][Question Description = 139_APS3_23Dec_Set1_Shift1_Q39]
1. 1 [Option ID = 153]
2. 2 [Option ID = 154]
3. 3 [Option ID = 155]
4. 4 [Option ID = 156]

20) In Microsoft Excel, how is the hyperlink inserted in a cell ?

(1) Ctrl+H (2) Ctl+K (3) Ctrl+L (4) Ctrl+I
‘el T e § geufeis H Y Sied 2
(1) Ctrl+H (2) Ctl+K (3) Cul+L (4)  Ctrl+I

[Question ID = 40][Question Description = 140_APS3_23Dec_Set1_Shift1_Q40]
1. 1 [Option ID = 157]



2. 2 [Option ID = 158]
3. 3 [Option ID = 159]
4. 4 [Option ID = 160]

Topic:- APSHIN_ENG_23DEC_S1

1)
Select the appropriate word to fill in the blanks :

Health is too important to be
(1) despised (2) destroyed (3) neglected (4) tampered

[Question ID = 71][Question Description = 141_APS3_23Dec_Set1_Shift1_Q41]
1. 1 [Option ID = 281]
2. 2 [Option ID = 282]
3. 3 [Option ID = 283]
4. 4 [Option ID = 284]

2) Select the synonym of the word ‘DELUGE’ :
(1) flood (2) weapon (3) confusion (4) elude

[Question ID = 72][Question Description = 142_APS3_23Dec_Set1_Shift1_Q42]
1. 1 [Option ID = 285]
2. 2 [Option ID = 286]
3. 3 [Option ID = 287]
4. 4 [Option ID = 288]

3)
Select the correctly spelt word :
(I) CURRSRY (2) CURSERY (3) CURSURY (4) CURSORY

[Question ID = 73][Question Description = 143_APS3_23Dec_Set1_Shift1_Q43]
1. 1 [Option ID = 289]
2. 2 [Option ID = 290]
3. 3 [Option ID = 291]
4. 4 [Option ID = 292]

4) Select the antonym of the word ‘“TRANSIENT” :
(1) temporal (2) perpetual (3) transitory (4) calm

[Question ID = 74][Question Description = 144_APS3_23Dec_Set1_Shift1_Q44]
1. 1 [Option ID = 293]
2. 2 [Option ID = 294]
3. 3 [Option ID = 295]
4. 4 [Option ID = 296]

5)
Select the word that would be appropriate to replace the phrase.
“Theft of ideas or writing

(1)  Quirk (2) Pecuniary (3) Parsimonious (4) Plagiarism

[Question ID = 75][Question Description = 145_APS3_23Dec_Set1_Shift1_Q45]
1. 1 [Option ID = 297]
2. 2 [Option ID = 298]
3. 3 [Option ID = 299]
4. 4 [Option ID = 300]



6) Fill in the blank with an appropriate option :

The police the area after the explosion :
(1) cordoned upon (2) cordoned in
(3) cordoned off (4) cordoned of

[Question ID = 76][Question Description = 146_APS3_23Dec_Set1_Shift1_Q46]

1. 1 [Option ID = 301]

2. 2 [Option ID = 302]

3. 3 [Option ID = 303]

4. 4 [Option ID = 304]

7)
Re-arrange the words to make a meaningful sentence :
they might/so that/get a/they climbed higher/better view

I II I IV v

1) LILV,ILIV (2) IVILLILV (3) LIULILIV,V (4 IIV,LILV

[Question ID = 77][Question Description = 147_APS3_23Dec_Set1_Shift1_Q47]
1. 1 [Option ID = 305]
2. 2 [Option ID = 306]
3. 3 [Option ID = 307]
4. 4 [Option ID = 308]

8) Identify the part of the sentence which has an error.
If “no error’ then select (IV)

The committee/has appended a/note to its report/no error
I II 111 IV

(1) I @) I (3) I @) IV

[Question ID = 78][Question Description = 148_APS3_23Dec_Set1_Shift1_Q48]
1. 1 [Option ID = 309]
2. 2 [Option ID = 310]
3. 3 [Option ID = 311]
4. 4 [Option ID = 312]

9)
Identify the part of speech of the underlined word in the following sentence.
Sit down and rest a while.
(1) Verb (2) Adverb (3) Adjective (4) Noun
[Question ID = 79][Question Description = 149_APS3_23Dec_Set1_Shift1_Q49]
1. 1 [Option ID = 313]
2. 2 [Option ID = 314]

3. 3 [Option ID = 315]
4. 4 [Option ID = 316]

10) Select the appropriate meaning of the idiom.
‘the ins and outs’
(1) listened eagerly (2) gain an advantage
(3) the full details (4) with utmost speed

[Question ID = 80][Question Description = 150_APS3_23Dec_Set1_Shift1_Q50]



1 [Option ID = 317]
2 [Option ID = 318]
3 [Option ID = 319]
4 [Option ID = 320]

AN wnN =

Topic:- APSHIN_HIN_23DEC_$1

Dot T

(1) G&pd 2) | (3) HRE

[Question ID = 81][Question Description = 151_APS3_23Dec_Set1_Shift1_Q51]
1. 1 [Option ID = 321]
2. 2 [Option ID = 322]
3. 3 [Option ID = 323]
4. 4 [Option ID = 324]

2 grerreRT’ Iee T 19 ¥

(1) w9 (2)  SATCHYTE (3)

[Question ID = 82][Question Description = 152_APS3_23Dec_Set1_Shift1_Q52]
1. 1 [Option ID = 325]
2. 2 [Option ID = 326]
3. 3 [Option ID = 327]
4. 4 [Option ID = 328]

D iR e W 9T YA ©

*

S

(1) =d 2) ®Fd (3) fwaa

[Question ID = 83][Question Description = 153_APS3_23Dec_Set1_Shift1_Q53]
1. 1 [Option ID = 329]
2. 2 [Option ID = 330]
3. 3 [Option ID = 331]
4. 4 [Option ID = 332]

Y ywEkRdsmmEe_ fRem

Iy we A | e T &6 gfd #ifs)
(1) |, 549 (2) Hiy, 7Y (3)

[Question ID = 84][Question Description = 154_APS3_23Dec_Set1_Shift1_Q54]
1. 1 [Option ID = 333]
2. 2 [Option ID = 334]
3. 3 [Option ID = 335]
4. 4 [Option ID = 336]

) o % TR YB Wk =TI i |
(1)  sredfafor (2) efifevi (3)

[Question ID = 85][Question Description = 155_APS3_23Dec_Set1_Shift1_Q55]
1. 1 [Option ID = 337]
2. 2 [Option ID = 338]
3. 3 [Option ID = 339]
4. 4 [Option ID = 340]

6)

e, Ty

areffgoft

e, 7Y

sreirgron



‘o1 o SH TS e o 21 §
(1) FHeaHTeT  (2) UBAE (3) MY % F&A B (4) =A™ Bl

[Question ID = 86][Question Description = 156_APS3_23Dec_Set1_Shift1_Q56]
1. 1 [Option ID = 341]
2. 2 [Option ID = 342]
3. 3 [Option ID = 343]
4. 4 [Option ID = 344]

7

)

‘T 9 FERFA S @A TN

U T ISR |

(1) dichlfeish SaAA (2) 99 gd9E (3) WHHEFdHE (4)  AEH 9d

[Question ID = 87][Question Description = 157_APS3_23Dec_Set1_Shift1_Q57]
1. 1 [Option ID = 345]
2. 2 [Option ID = 346]
3. 3 [Option ID = 347]
4. 4 [Option ID = 348]

8 39 gen e He, e g 7 A7
S e § STeiehR 7 ¢
(1) fadienams (2) IUaT (3) wwEIfH (4) @

[Question ID = 88][Question Description = 158_APS3_23Dec_Set1_Shift1_Q58]
1. 1 [Option ID = 349]
2. 2 [Option ID = 350]
3. 3 [Option ID = 351]
4. 4 [Option ID = 352]

) ‘e A aren’ o fou T v #
(1) SR (2) YR (3) S (4) wEHAI

[Question ID = 89][Question Description = 159_APS3_23Dec_Set1_Shift1_Q59]
1. 1 [Option ID = 353]
2. 2 [Option ID = 354]
3. 3 [Option ID = 355]
4. 4 [Option ID = 356]

10 339} =} gfie | A F foran A2 B2
(1) <3 (2) =® (3) ¥ 4)

[Question ID = 90][Question Description = 160_APS3_23Dec_Set1_Shift1_Q60]
1. 1 [Option ID = 357]
2. 2 [Option ID = 358]
3. 3 [Option ID = 359]
4. 4 [Option ID = 360]

Topic:- APSHIN_POLITY_23DEC_S1



1 Who was India’s First Law Minister after Independence ?

(1) Dr. John Mathai (2) Maulana Abul Kalam Azad
(3) Dr. B. R. Ambedkar (4) Dr. Shyama Prasad Mukherjee
A Yd & YIH HEA WA wE 9 7

(1) = i Ho (2) WIS A FHAH IS

(3) I S.AR. TIHT (4) Sl Y9I YHIE HEsi

[Question ID = 91][Question Description = 161_APS3_23Dec_Set1_Shift1_Q61]
1. 1 [Option ID = 361]
2. 2 [Option ID = 362]
3. 3 [Option ID = 363]
4. 4 [Option ID = 364]

2) How many Fundamental Rights are provided by the Constitution of India ?

1) 5 2) 6 3 7 (4)
YRA o Hiaem™ g/ foa Hifas sAfuer uea €2
1) 5 2) 6 3 7 (4)

[Question ID = 92][Question Description = 162_APS3_23Dec_Set1_Shift1_Q62]
1. 1 [Option ID = 365]
2. 2 [Option ID = 366]
3. 3 [Option ID = 367]
4. 4 [Option ID = 368]

3) The Lok Sabha Speaker submits his resignation to the :

(I) President (2) Vice President
(3) Prime Minister (4) Deputy Speaker
s |1 SIS HT AT foREen! T €2

(1) T (2) ST

(3) HHEHAT (4) TAREH 3UTEAE

[Question ID = 93][Question Description = 163_APS3_23Dec_Set1_Shift1_Q63]
1. 1 [Option ID = 369]
2. 2 [Option ID = 370]
3. 3 [Option ID = 371]
4. 4 [Option ID = 372]

8

8

4) Which US President did not address the Indian Parliament on their visit to India ?

(1) George W. Bush (Jr) (2) Jimmy Carter

(3) Bill Clinton (4) Barack Obama

o sradient Tegafd 7 STOT AEN 3 SR VR HEE il Hahd T R 2
(1) Sisl esey, 991 (5,) (2) fomi =t

(3) faa faerea (4) SUH SAEH

[Question ID = 94][Question Description = 164_APS3_23Dec_Set1_Shift1_Q64]
1. 1 [Option ID = 373]
2. 2 [Option ID = 374]
3. 3 [Option ID = 375]



4. 4 [Option ID = 376]

5)
Who proposed the LPG (Liberalization, Privatization and Globalization) Model of
development ?

(1) Dr. Subramanian Swamy (2) Dr. Amartya Sen

(3) Dr. Manmohan Singh (4) Dr. A.P.J. Abdul Kalam
fereprer 1 T L ST, (SR, Frsfiertor s Svdieton) fagr fre wefeq foan ?
(1) &I gsmoa T (2) el aued oH

(3) El. HHEA fHg (4) Tl UL, g ™

[Question ID = 95][Question Description = 165_APS3_23Dec_Set1_Shift1_Q65]
1. 1 [Option ID = 377]
2. 2 [Option ID = 378]
3. 3 [Option ID = 379]
4. 4 [Option ID = 380]
®) Bharat Nirman Yojana aims at :
(1) providing food to rural people
(2) development of rural infrastructure
(3) providing ‘100 days” employment in a year
(4) providing 100 days wages in rural areas in a year

R forafor s 61 5 389 §72

(1) T AT R G Sqered SRl

(2)  ATHTOT STEEEE K foeRE

(3) =dH ‘W A’ IS Iue A

(4) = 'E e’ urion e § ISP S| Suetsd Sl
[Question ID = 96][Question Description = 166_APS3_23Dec_Set1_Shift1_Q66]
1. 1 [Option ID = 381]
2. 2 [Option ID = 382]

3. 3 [Option ID = 383]
4. 4 [Option ID = 384]

7} The playing time of the National Anthem is approximately seconds.
(1) 52 (2) 54 (3) 56 4) 58
TH A F1 ST afy e Apvs St © 2
(1) 52 (2) 54 (3) 56 4) 58

[Question ID = 97][Question Description = 167_APS3_23Dec_Set1_Shift1_Q67]
1. 1 [Option ID = 385]
2. 2 [Option ID = 386]
3. 3 [Option ID = 387]
4. 4 [Option ID = 388]

8)



The term ‘Fourth estate’ refers to .
(1) Law (2) Parliament (3) Property (4) Press

‘ogd T’ q geifua 2
(1) @A (2) HEg (3) Hufd (4) HAER YA

[Question ID = 98][Question Description = 168_APS3_23Dec_Set1_Shift1_Q68]
1. 1 [Option ID = 389]
2. 2 [Option ID = 390]
3. 3 [Option ID = 391]
4. 4 [Option ID = 392]

%) What is the meaning of ‘Satyameva Jayate’ ?

(1) Truth is Prime (2) Truth shall Prevail
(3) Truth alone Triumphs (4) Truth will Triumph
“HeTiE S 1 T R ?

(1) | & g (2) | A AfYre g
(3) &Thal HA *I fasa (4) HA Fl fas=

[Question ID = 99][Question Description = 169_APS3_23Dec_Set1_Shift1_Q69]
1. 1 [Option ID = 393]
2. 2 [Option ID = 394]
3. 3 [Option ID = 395]
4. 4 [Option ID = 396]

10)
Which of the following language has not been given the status of Classical Language ?
(1) Odia (2) Bengali (3) Tamil (4) Telugu
ToFg aTeT 1 IS 99T 6T S e o T 2

(1) effem (2) St (3) dffa (4) qq

[Question ID = 100][Question Description = 170_APS3_23Dec_Set1_Shift1_Q70]
1. 1 [Option ID = 397]
2. 2 [Option ID = 398]
3. 3 [Option ID = 399]
4. 4 [Option ID = 400]

Topic:- APSHIN_GS_23DEC_S1



D Which of the following statements is not correct ?
(1) Atmospheric pressure is measured by Barometer
(2) Sudden fall in barometric reading indicates a storm
(3) Atmospheric pressure increases with altitude
(4) Slow fall in barometric reading indicates rain
= § 9§ SiH-91 e S © 2
(1) SRR ¥ aEHvSHr gard &1 919 fFar S g
(2) SRR T TUET H1 A= A gE S
(3) AFHvEA™ A 9% ¥ gfg
() o ¥ wra A e O D A e

[Question ID = 101][Question Description = 171_APS3_23Dec_Set1_Shift1_Q71]

1. 1 [Option ID = 401]

2. 2 [Option ID = 402]

3. 3 [Option ID = 403]
4. 4 [Option ID = 404]

2) and ions are responsible for hardness of water.
(1) Sodium, Magnesium (2) Sodium, Calcium
(3) Potassium, Calcium (4) Calcium, Magnesium
LC] ST 9 i sheral & forg fier §)

(1) wifezm, friiferm (2) Gifezm, Hfcemm
(3) Hreferm, FHiceram (4) hfoemy, Tty

[Question ID = 102][Question Description = 172_APS3_23Dec_Set1_Shift1_Q72]
1. 1 [Option ID = 405]
2. 2 [Option ID = 406]
3. 3 [Option ID = 407]
4. 4 [Option ID = 408]

3) Speed of sound is

(1) minimum in solids (2) minimum in gases

(3) maximum in gases (4) same in different mediums
i &t fa gl

(1) 3™ § = (2) T =

(3) 4 H sifyekan (4) fafay arerdl § gu wdl

[Question ID = 103][Question Description = 173_APS3_23Dec_Set1_Shift1_Q73]
1. 1 [Option ID = 409]
2. 2 [Option ID = 410]
3. 3 [Option ID = 411]
4. 4 [Option ID = 412]



4 What type of lens is a remedy for Astigmatism ?

(1) plane glass (2) concave lens
(3) convex lens (4) cylindrical lens
gﬁaﬁ&m ENIE %ﬂ, frg R F AT B ® :

(1) SHde g (2) add ©iY

(3) 39d ©d (4) SEHHER o"

[Question ID = 104][Question Description = 174_APS3_23Dec_Set1_Shift1_Q74]
1. 1 [Option ID = 413]
2. 2 [Option ID = 414]
3. 3 [Option ID = 415]
4. 4 [Option ID = 416]

5)
The process of converting a liquid into its vapour be heating and then condensing the vapour
again into the same liquid by cooling is called :

(1) Distillation (2) Crystallization (3) Filteration (4) Sublimation
A 1 A H ufiafda ) Gufad arsg 1 g SH GEE o o e i TR Sl 9 el S S ?
(1) 3TEaa (2) TRETEF 3) fr=Em (4) T

[Question ID = 105][Question Description = 175_APS3_23Dec_Set1_Shift1_Q75]
1. 1 [Option ID = 417]
2. 2 [Option ID = 418]
3. 3 [Option ID = 419]
4. 4 [Option ID = 420]

6)

Knot is a unit of speed of which of the following ?

(1) Aeroplane (2) Ship (3) Sound waves (4) Light waves
frefafed § § fermert wfa 31 72 (Knot) €2

(1) @4 SEs 2) &S (3) w=f ol (4)  WRII A

[Question ID = 106][Question Description = 176_APS3_23Dec_Set1_Shift1_Q76]
1. 1 [Option ID = 421]
2. 2 [Option ID = 422]
3. 3 [Option ID = 423]
4. 4 [Option ID = 424]

7) The acid that is present in the stomach is :
(1) Lactic acid (2) Nitric acid
(3) Sulphuric acid (4) Hydrochloric acid
SR H -1 3 A7 2
(1) <ifR® o7 (2) -sfew s
(3) HeHH T (4) FESHAIRE o

[Question ID = 107][Question Description = 177_APS3_23Dec_Set1_Shift1_Q77]
1. 1 [Option ID = 425]
2. 2 [Option ID = 426]
3. 3 [Option ID = 427]



4. 4 [Option ID = 428]

8) Growing of plants without soil is known as :

(1) Hydroponics (2) Horticulture
(3) Pomology (4) Olericulture
TeIfeia yeafad & del IIgUl Sl & el S § ?

(1) el (2) SIS

(3) W FiY fasm (4) i

[Question ID = 108][Question Description = 178_APS3_23Dec_Set1_Shift1_Q78]
1. 1 [Option ID = 429]
2. 2 [Option ID = 430]
3. 3 [Option ID = 431]
4. 4 [Option ID = 432]

9 In adults, Red Blood Corpuscles are found in

(1) Spleen (2) Heart (3) Bone marro;.fv (4) Liver
et ®fR sl %1 aue frg w9 5 € 82
(1) foeeft (2) w4 (3) e wsm (4) FFd

[Question ID = 109][Question Description = 179_APS3_23Dec_Set1_Shift1_Q79]
1. 1 [Option ID = 433]
2. 2 [Option ID = 434]
3. 3 [Option ID = 435]
4. 4 [Option ID = 436]

100 Name the enzyme present in the Saliva of a human :

(I) Pepsin (2) Amylase (3) Trypsin (4) Lipase
Tk A o AR H T T Era 8 2
(1) fema (2) THeH (3) feftgq 4) faug

[Question ID = 110][Question Description = 180_APS3_23Dec_Set1_Shift1_Q80]
1. 1 [Option ID = 437]
2. 2 [Option ID = 438]
3. 3 [Option ID = 439]
4. 4 [Option ID = 440]

Topic:- APSHIN_HIST_23DEC_S1

1)

Name the son of Bimbisara of the Haryanaka Dynasty :

(1) Jivaka (2) Prasenjit (3) AjataShatru (4) Pradyota
g a9 & Taftsar & O &1 =1 A § 2

(1) e (2) TETS (3) TSI ¥ (4) WA

[Question ID = 111][Question Description = 181_APS3_23Dec_Set1_Shift1_Q81]
1. 1 [Option ID = 441]
2. 2 [Option ID = 442]
3. 3 [Option ID = 443]
4. 4 [Option ID = 444]



2)
Where did Buddha deliver his first sermon ?

(1) Sarnath (2) Kushinagar (3) Bodh Gaya (4) Patliputra

TE A ST YA SIS Fal W e ?

(1) H™ (2) FHIAR (3) #Y I (4) urEfaga

[Question ID = 112][Question Description = 182_APS3_23Dec_Set1_Shift1_Q82]

1. 1 [Option ID = 445]

2. 2 [Option ID = 446]

3. 3 [Option ID = 447]

4. 4 [Option ID = 448]

3) Which of the following is not true about Megasthenese ?
(1) He was a Greek ambassador
(2) He was sent to the court of Chandragupta Maurya
(3) He was sent by Alexander

(4) He wrote the book Indica

e & He H HiA-H Y FET B 7

(1) a8 I Tsigd o1

(2) @8 9ETd 49 % SR § U1 T o

(3) 3H TaEIvET H Hell

(4) 3EA ‘gfeamt’ &1 @A &l
[Question ID = 113][Question Description = 183_APS3_23Dec_Set1_Shift1_Q83]
1. 1 [Option ID = 449]
2. 2 [Option ID = 450]

3. 3 [Option ID = 451]
4. 4 [Option ID = 452]

4 Who was the first Gupta ruler to assume the title of “Maharajadhiraja” ?

(1) Ghatotkach (2) Chandragupta II
(3) Samudragupta (4) Chandragupta I
' HERTSITERTST ' S ST Y07 S aTel YoH T IS A 9 ?

(1) =ReIehs (2) == fadm

(3) HH=TH (4) == qUH

[Question ID = 114][Question Description = 184_APS3_23Dec_Set1_Shift1_Q84]
1. 1 [Option ID = 453]
2. 2 [Option ID = 454]
3. 3 [Option ID = 455]
4. 4 [Option ID = 456]



3) Who is the author of ‘Panchatantra’ ?

(1) Visakhadatta (2) Vishnu Sharma
(3) Sidhsena (4) Bharavi
‘deda’ % e hH 9 2

(1) favmaes (2) oo g
(3) TagE (4) &

[Question ID = 115][Question Description = 185_APS3_23Dec_Set1_Shift1_Q85]
1. 1 [Option ID = 457]
2. 2 [Option ID = 458]
3. 3 [Option ID = 459]
4. 4 [Option ID = 460]

6)
The “Alai Darwaja’, the entrance gate of Qutub Minar, was constructed during whose

reign ?

(1)  Alauddin Khilji (2) Qutubuddin Aibak

(3) Iltutmish (4) Mohammad - bin Tughlaq
FIAHHAR 1 Y gR ' 37eTs Sxarsn’ fordeh shrdeprel | fAfHa foman w2

(1) sTernseE fEers (2) FIIEH Uah

(3) soqarHEl (4) HEERE-faT e

[Question ID = 116][Question Description = 186_APS3_23Dec_Set1_Shift1_Q86]
1. 1 [Option ID = 461]
2. 2 [Option ID = 462]
3. 3 [Option ID = 463]
4. 4 [Option ID = 464]

7)

The construction of double domes was the main feature of architecture.
(1) Khilji (2) Tughlaq (3) Lodi (4) Sayyid
o aregforedt & g § <1 e wow fagioan €

(1) Faersh 2) IR (3) @hEt 4) H=g

[Question ID = 117][Question Description = 187_APS3_23Dec_Set1_Shift1_Q87]
1. 1 [Option ID = 465]
2. 2 [Option ID = 466]
3. 3 [Option ID = 467]
4. 4 [Option ID = 468]

8)

Who is the celebrated author of ‘Kavitawali” and ‘Gitawali’ ?

(1) Surdas (2) Tulsidas (3) Shankara Deva (4) Purandar Das
" rfaameet’ Te Tiarecl’ S TR oiEs i 9 2

(1) FE™ 2) qadHE™ (3) Yt <d (4) X IH

[Question ID = 118][Question Description = 188_APS3_23Dec_Set1_Shift1_Q88]
1. 1 [Option ID = 469]
2. 2 [Option ID = 470]



3. 3 [Option ID = 471]
4. 4 [Option ID = 472]

9)
Which battle ended the Mughal-Afghan contest for the throne of Delhi in favour of the
Mughals ?

(1) Battle of Haldighati (2)  First Battle of Panipat

(3) Second Battle of Panipat (4) Third Battle of Panipat

feeedl % a1 o faw qorer-sTe wfaeasl o1 ge us | e g3 % 3id ae fofa gen 2
(1) eeSEEl =l Ig (2) TG I WeH e

(3) i i T wer (4) THTA F AT TS

[Question ID = 119][Question Description = 189_APS3_23Dec_Set1_Shift1_Q89]
1. 1 [Option ID = 473]
2. 2 [Option ID = 474]
3. 3 [Option ID = 475]
4. 4 [Option ID = 476]

10 Who was popularly known as Nana Saheb ?

(1) Baji Rao I (2) Baji Rao II

(3) Balaji Baji Rao (4) Sawai Madhav Rao
‘A gTed’ % ®Y H fRE ST o € ?

(1) =TSRE 9o (2) =g fgdiE

(3) SISt STSIT T (4) HeEE HiYE TE

[Question ID = 120][Question Description = 190_APS3_23Dec_Set1_Shift1_Q90]
1. 1 [Option ID = 477]
2. 2 [Option ID = 478]
3. 3 [Option ID = 479]
4. 4 [Option ID = 480]

Topic:- APSHIN_NATMOV_23DEC_S1



1) What is the chronological order of the following events ?
(a) Dandi
(b) Non-Cooperation and Khilafat Movement

(c) Champaran Campaign

(d) Individual Satyagrah Movement

(1) (0 (@), (b), (d) (2) (9 (a), (d), (b)
(3 (9 (b). (@), (d) (4) (9, (d), (b), (a)
frefafan sestl &1 wemsHites w9 01 2 ?

(a) <<l AME

(b) 3rEEEm e fEerdd ke
(c) IRU A

(d) ST TeamE stide

(

D) (o) (@) (b), (d) (2) () (a), (d), (b)
(3 (9 (b), (@), (d) 4) (9 (d), (b), (@)
[Question ID = 121][Question Description = 191_APS3_23Dec_Set1_Shift1_Q91]
1. 1 [Option ID = 481]
2. 2 [Option ID = 482]
3. 3 [Option ID = 483]
4. 4 [Option ID = 484]
2)
Name the British police official who was accidentally killed by Indian revolutionaries Bhagat
Singh and his comrades seeking to avenge the death of Lala Lajpat Rai.

(1) Sounders (2) Simon (3) Curzon Wyllie (4) Rand
R Shifderi] 9o T892 = 379 Tl |ied ol arsiad T4 Sl g %1 sieall o o Ty fohg 3
ATt 1 S | AR fen o ?

(1) «ied 2) 9B (3) S ATIet 4) Y=

[Question ID = 122][Question Description = 192_APS3_23Dec_Set1_Shift1_Q92]
1. 1 [Option ID = 485]
2. 2 [Option ID = 486]
3. 3 [Option ID = 487]
4. 4 [Option ID = 488]

3) Tipu Sultan was killed in which battle/war ?

(1) Battle of Buxar (2) Battle of Plassey

(3) Second Anglo - Mysore war (4) Fourth Anglo - Mysore war
Y Hear fH qg/ @< | AR/ T

(1) RIS (2) T S

@) Tt afrell-AeR 7 (4) =g AR g

[Question ID = 123][Question Description = 193_APS3_23Dec_Set1_Shift1_Q93]
1. 1 [Option ID = 489]



2. 2 [Option ID = 490]
3. 3 [Option ID = 491]
4. 4 [Option ID = 492]

4)
The direct settlement between the government and the cultivator introduced in Bombay and
Madras in 1820 was known as :

(1) Istamarari Bandobast (2) Ryotwari System

(3) Mahalwari System (4) Dahsala Bandobast

e 3T HErd § 1820 % S=arid TR 3R Ukl & WA Yoas] THeid bl fohg w9 H S 57w € 2
(1) TR sde (2) {HAETEr SR

(3) HETAR! HEwe (4) SR SR

[Question ID = 124][Question Description = 194_APS3_23Dec_Set1_Shift1_Q94]
1. 1 [Option ID = 493]
2. 2 [Option ID = 494]
3. 3 [Option ID = 495]
4. 4 [Option ID = 496]

) Who founded the English Weekly ‘New India’ ?

(1) Bipin Chandra Pal (2) Lala Lajpat Rai
(3) Bal Gangadhar Tilak (4) A.O.Hume
SIS wrefaes ‘=] gfvean’ & geArges i 9 2

(1) fafta =< < (2) A ANI T
(3) @@ TR faeie (4) TS gH

[Question ID = 125][Question Description = 195_APS3_23Dec_Set1_Shift1_Q95]
1. 1 [Option ID = 497]
2. 2 [Option ID = 498]
3. 3 [Option ID = 499]
4. 4 [Option ID = 500]

6)
Who of the following was the first President of Madras Native Association established in
1852 ?

(1) P. Naidu (2) GS. Aiyer (3) G.L. Chetty (4) V. Raghavchari
frefafad § ¥ =M 1852, § nifed wgra Afea srHifauym & guq s1ee1 97
(1) . \mEg (2) SIL.TH. PR (3) SH.UA. g (4) . TEEER

[Question ID = 126][Question Description = 196_APS3_23Dec_Set1_Shift1_Q96]
1. 1 [Option ID = 501]
2. 2 [Option ID = 502]
3. 3 [Option ID = 503]
4. 4 [Option ID = 504]



7). Which of the following events did not take place in 1948 ?
(1) Mahatma Gandhi was assassinated
(2) Constitution of India was adopted
(3) C. Rajgopalachari became first India Governor General
(4) India won London Olympic Hockey Gold.
1948 I fe7 § 9§ F-If s 7 g8 2
(1)  HeTe e i T
(2) HRATE HfHE HI Fipld
(3) HI. TS MU’ YRA =1 UG T S
(4) 9Rd A e Aratush H giet H =l Sfidn
[Question ID = 127][Question Description = 197_APS3_23Dec_Set1_Shift1_Q97]
1. 1 [Option ID = 505]
2. 2 [Option ID = 506]

3. 3 [Option ID = 507]
4. 4 [Option ID = 508]

8)
When did British Prime Minister Attlee announce that the British would withdraw from
India ?

(1) June 3, 1947 (2) Sept 2, 1946

(3) Dec 9, 1946 (4) Feb 20, 1947

farfesr ger=t weel 7 o SgEW wd &, fF fafew v 9 frera © 872
(1) 33, 1947 (2) 2 fgamw, 1946

(3) 9 fegm=r, 1946 (4) 20 W&l 1947

[Question ID = 128][Question Description = 198_APS3_23Dec_Set1_Shift1_Q98]
1. 1 [Option ID = 509]
2. 2 [Option ID = 510]
3. 3 [Option ID = 511]
4. 4 [Option ID = 512]

9)
In which of the following countries, “Subhash Chandra Bose” organised the “Tiger Legion’ ?
(1) Singapore (2) Germany (3) Japan (4) India
frefafed 5 9 frg Su | ' 'gum == 98" 7 ' TR s’ w1 SAEsE T 2
(1) FEmTR (2) (3) ST (4) W
[Question ID = 129][Question Description = 199_APS3_23Dec_Set1_Shift1_Q99]
1. 1 [Option ID = 513]
2. 2 [Option ID = 514]

3. 3 [Option ID = 515]
4. 4 [Option ID = 516]

10)



Who of the following authored the book ‘Bandi Jeevan’ which became an all - important
book for the revolutionaries fighting for India’s freedom ?

(1) Bhagat Singh (2) Sachindranath Sanyal
(3) Ram Prasad Bismil (4) Ashfaqullah Khan
Frefefed 6 9 forem ‘siE Sitea’ geaes fogl, St 9rd 1 Ferdsidl o feft eigq i shifdenria « fag
Teh Hel HEeaqvl J&ieh s TS 2
(1) w9 fog (2) HfeFEIY HTE
(3) M wHE fafere (4) STURIHTAR WA
[Question ID = 130][Question Description = 200_APS3_23Dec_Set1_Shift1_Q100]
1. 1 [Option ID = 517]
2. 2 [Option ID = 518]

3. 3 [Option ID = 519]
4. 4 [Option ID = 520]

Topic:- APSHIN_AGRI_23DEC_S1

1)
Which of the following tools was not used in Primitive subsistence type of agriculture ?

(1) Hoe (2) Thresher (3) Dao (4) Digging Stick
-9 IUHTOT YT Gl o THR H SYANT H 2] 1 7 ?
(1) Fe (2) 9 (3) E (4) G F Y

[Question ID = 131][Question Description = 201_APS3_23Dec_Set1_Shift1_Q101]

1. 1 [Option ID = 521]

2. 2 [Option ID = 522]

3. 3 [Option ID = 523]

4. 4 [Option ID = 524]

2) Which of the following is a correct statement ?
(1) Wheat is a Kharif crop
(2) Kharif crops are sown from September to October
(3) Rabi Crops are sown from April to June

(4) Zaid Season is a short season during the summer months
e d SH-1 U T § 2

(1) 7 U Tl Ea §

(2) WF wHH f9ar=r § stRe | 9 Sl ¢

(3) ol wHA YA ¥ A § &1 5wl ©

(4) IR 1 HEH TH o T I U DR I A 7

[Question ID = 132][Question Description = 202_APS3_23Dec_Set1_Shift1_Q102]
1. 1 [Option ID = 525]
2. 2 [Option ID = 526]
3. 3 [Option ID = 527]
4. 4 [Option ID = 528]

3)



Which of the following is NOT a top import of India ?

(1) Spices (2) Crude Petroleum (3)  Electronic goods (4) Gold
= | & forelt Wk o1 WA | 37 2 g 2
(1) wEre (2) =N e (3) FERIH IR 4) T

[Question ID = 133][Question Description = 203_APS3_23Dec_Set1_Shift1_Q103]
1. 1 [Option ID = 529]
2. 2 [Option ID = 530]
3. 3 [Option ID = 531]
4. 4 [Option ID = 532]

4{’\?11jch of these is a commercial crop ?

(1) Rice (2) Wheat (3) Oil - Seeds Crops (4) Maize
e H wie- e o 8 2

(1) = 2 (3) et St Ee (4) =R

[Question ID = 134][Question Description = 204_APS3_23Dec_Set1_Shift1_Q104]
1. 1 [Option ID = 533]
2. 2 [Option ID = 534]
3. 3 [Option ID = 535]
4. 4 [Option ID = 536]

) What is the full form of NABARD ?
(1) National Board for Agriculture and Rural Development

(2) National Agriculture Bank and Rural Development

(3) National Agriculture Bank and Rural Developer

(4) National Bank for Agriculture and Rural Development
(NABARD) &€ o1 qof 74 ¢ :

(1) National Board for Agriculture and Rural Development
(2) National Agriculture Bank and Rural Development

(3) National Agriculture Bank and Rural Developer

(4) National Bank for Agriculture and Rural Development

[Question ID = 135][Question Description = 205_APS3_23Dec_Set1_Shift1_Q105]
1. 1 [Option ID = 537]
2. 2 [Option ID = 538]
3. 3 [Option ID = 539]
4. 4 [Option ID = 540]

6)
The first Steel Factory was setup at in 1907.
(1) Durgapur (2) Jamshedpur (3) Bokaro (4) Bhilai

TRl $Ed HAA 1907 H I wfud gam ?
(1) F9 (2) SR (3) =R (4) foram

[Question ID = 136][Question Description = 206_APS3_23Dec_Set1_Shift1_Q106]
1. 1 [Option ID = 541]
2. 2 [Option ID = 542]



3. 3 [Option ID = 543]
4. 4 [Option ID = 544]

7) The Imperial Bank was nationalised in 1955 and rechristened as :

(1) State Bank of India (2) Central Bank of India

(3) Bank of India (4) Indian Bank
T S &1 1955 § UL forg 9m & w9 § o ?

(1) e S 3w sfve (2) HTA d% A e

(3) W 3w 3foemm (4) zfregT S

[Question ID = 137][Question Description = 207_APS3_23Dec_Set1_Shift1_Q107]
1. 1 [Option ID = 545]
2. 2 [Option ID = 546]
3. 3 [Option ID = 547]
4. 4 [Option ID = 548]

8)

Which of the following is not a form of Electronic Fund Transfer ?

(1) NEFT 2) RTGS (3) CRR

(4)

IMPS

frerma | 4 - e fasrey fagea ot 9 ufen o 9 o1 i e © 2

(1) TALTE. 2) SRASITE.  (3) HLIWHR

[Question ID = 138][Question Description = 208_APS3_23Dec_Set1_Shift1_Q108]
1. 1 [Option ID = 549]
2. 2 [Option ID = 550]
3. 3 [Option ID = 551]
4. 4 [Option ID = 552]

%) Which one of the following is known as the ‘King of Fruits’ ?

(1) Custard Apple (2) Guava (3) Pineapple
fordy ‘et ' o1 ST’ RET ST R 2
(1) vlw (Hdeed) (2) THEg (3) SHEEN™

[Question ID = 139][Question Description = 209_APS3_23Dec_Set1_Shift1_Q109]
1. 1 [Option ID = 553]
2. 2 [Option ID = 554]
3. 3 [Option ID = 555]
4. 4 [Option ID = 556]

(4)

(4)

(4)

3. U9 4t Uy,

Mango

™A



10 What is "‘Mixed Farming’ ?
(1) A combination of agriculture and pastoral farming
(2) A combination of crops are grown
(3) A farm used for purposes other than farming
(4) A farm used for growing commercial crops

frrfrd St o Bt € 2

(1) IETERY AT et 1 Jrere

(2) HHA I I H HH

(3) A 1 TR Wl o e 374 HeH H off
(4) @l = YER SHEEgE BEA IUSH o fag

[Question ID = 140][Question Description = 210_APS3_23Dec_Set1_Shift1_Q110]
1. 1 [Option ID = 557]
2. 2 [Option ID = 558]
3. 3 [Option ID = 559]
4. 4 [Option ID = 560]

Topic:- APSHIN_POP_23DEC_S1

1)
One Nation One FASTag scheme has been implemented since :

(1) Dec 2019 (2) Dec 2018 (3) Dec 2017 (4) Dec 2016
"I I I RS AT e IRy TR T ?
1) femew 2019 () fewww 2018 (3) femwwy 2017 (@) fewww, 2016

[Question ID = 141][Question Description = 211_APS3_23Dec_Set1_Shift1_Q111]
1. 1 [Option ID = 561]
2. 2 [Option ID = 562]
3. 3 [Option ID = 563]
4. 4 [Option ID = 564]

2)
Which of the following states has the largest share of total road length of National
Highways ?

(1) Karnataka (2) Rajasthan (3) Maharashtra (4) Uttar Pradesh
frefafag § § a8 w9-m1 159 & foge o waifss w9 § Ut usmnt &) oven a8 2
(1) FATeH (2) TSEIH (3) HEWIZ (4) IR

[Question ID = 142][Question Description = 212_APS3_23Dec_Set1_Shift1_Q112]
1. 1 [Option ID = 565]
2. 2 [Option ID = 566]
3. 3 [Option ID = 567]
4. 4 [Option ID = 568]



3) Pollution of river water is measured by amount of :

(1) floating particles (2) dissolved nitrogen
(3) dissolved oxygen (4) dissolved chlorine

el % T 1 Ygul B % Hae H HH-H 5 Ier € 2

(1) Ul 1 F& (2) TERRH = faerEE g

(3) TS &1 faerem (4) A = faeaa

[Question ID = 143][Question Description = 213_APS3_23Dec_Set1_Shift1_Q113]
1. 1 [Option ID = 569]
2. 2 [Option ID = 570]
3. 3 [Option ID = 571]
4. 4 [Option ID = 572]

4)
Which of the following is a major source of indoor air pollutant ?
(1) Hydrocarbons (2) Radon (3) Arsenic

R % fiaE Yo SefSid B T TE IR0 F1 © 2
(1) TTEErEREA 2) EH (3) REfTH

[Question ID = 144][Question Description = 214_APS3_23Dec_Set1_Shift1_Q114]
1. 1 [Option ID = 573]
2. 2 [Option ID = 574]
3. 3 [Option ID = 575]
4. 4 [Option ID = 576]

) Which one of these is a Tertiary Consumer ?

(1) Peacock (2) Fox (3) Tiger
frera B F qoiae SuNE HE-91§ 2
(1) =R (2) wmE () =™

[Question ID = 145][Question Description = 215_APS3_23Dec_Set1_Shift1_Q115]
1. 1 [Option ID = 577]
2. 2 [Option ID = 578]
3. 3 [Option ID = 579]
4. 4 [Option ID = 580]

6)

(4)

(4)

Ammonia

S EED|

(4) Snakes

Jadav Molai, the Forest Man of India, has planted and tended trees on a Sandbar of the river

and turned into a forest reserve.,
(1) Brahmaputra (2) Teesta (3) Manas

(4) Gomati
YRd &% a1 9Fd ' SE Hierd ' | e % a2 ! arg fufd W g4 Aftg foru oik & arg §
3 Mea H wfiafda g1 )
(1) A (2) e (3) HFE (4) T

[Question ID = 146][Question Description = 216_APS3_23Dec_Set1_Shift1_Q116]
1. 1 [Option ID = 581]
2. 2 [Option ID = 582]
3. 3 [Option ID = 583]
4. 4 [Option ID = 584]



7)
Which of the following is the largest city in the world ?

(1) Delhi (2) Tokyo (3) New York (4) Mumbai
frefafea 5 § S = fava =1 998 o= e 8 ?
(1) fewed (2 = (3) AIH (4) T

[Question ID = 147][Question Description = 217_APS3_23Dec_Set1_Shift1_Q117]
1. 1 [Option ID = 585]
2. 2 [Option ID = 586]
3. 3 [Option ID = 587]
4. 4 [Option ID = 588]

8) Which is the largest and the oldest tribe of India ?

(1) Gonds (2) Santhals (3) Birhors (4) Mundas
IRA i T EAad St He-H ¢ 2
(1 e () Hore (3) ForeR (@) T

[Question ID = 148][Question Description = 218_APS3_23Dec_Set1_Shift1_Q118]
1. 1 [Option ID = 589]
2. 2 [Option ID = 590]
3. 3 [Option ID = 591]
4. 4 [Option ID = 592]

%) India’s first Metro Service started in which city ?
(1) Chennai (2) Bengaluru (3) Delhi (4) Kolkata
A H el W21 Fa1 1 Rl YR g |
(1) =% (2) STETE (3) feos (4)  ehIcTshdl

[Question ID = 149][Question Description = 219_APS3_23Dec_Set1_Shift1_Q119]
1. 1 [Option ID = 593]
2. 2 [Option ID = 594]
3. 3 [Option ID = 595]
4. 4 [Option ID = 596]

10)
A village in which State of India plants III trees every time a girl is born in the Village ?
(1) Bihar (2) Rajasthan (3) Odisha (4) Chhattisgarh
Tiig § TSt & 1 & T T NG & g9 =g d 111 g&ii =1 Aqur fepan <iran & 2
(1) Ta=r (2) ST (3) st (4) =UETE
[Question ID = 150][Question Description = 220_APS3_23Dec_Set1_Shift1_Q120]
1. 1 [Option ID = 597]
2. 2 [Option ID = 598]

3. 3 [Option ID = 599]
4. 4 [Option ID = 600]

Topic:- APSHIN_GEOG_23DEC_S1

1)



From where does river Krishna rise ?

(1) Western flank of Amarkantak Plateau (2) Near Mahabaleshwar in Sahyadri

(3) In Brahmagiri Hills

FEO LT T ST T T § 2

(1) A9%EheH TR & uivaH fem |
(3) oI vRfedl |

(4) In Nasik district

(2) WEERYeR & frene geafg |
(4) Tt fees |

[Question ID = 151][Question Description = 221_APS3_23Dec_Set1_Shift1_Q121]

1. 1 [Option ID = 601]
2. 2 [Option ID = 602]
3. 3 [Option ID = 603]
4. 4 [Option ID = 604]

2)

Which state is the largest producer of Silver ?

(1) Karnataka (2) Tamil Nadu
Hidl 1 i IGH T i T8 ?

(1) AREH (2) dfaerrg

(3) Odisha (4) Rajasthan

(3) sAifeE (4) TSEAE

[Question ID = 152][Question Description = 222_APS3_23Dec_Set1_Shift1_Q122]

1. 1 [Option ID = 605]

2. 2 [Option ID = 606]

3. 3 [Option ID = 607]

4. 4 [Option ID = 608]

3)
Cotton grows best in which type of soil ?
(1) Red Soil 2)  Alluvial Soil
HTE F 3TN foRe g1 H ol sa At € 2

(1) o g (2) W T

(3) Black Soil (4) Laterite Soil

(3) @rett e (4) W T

[Question ID = 153][Question Description = 223_APS3_23Dec_Set1_Shift1_Q123]

1. 1 [Option ID = 609]
2. 2 [Option ID = 610]
3. 3 [Option ID = 611]
4. 4 [Option ID = 612]

4) Where is the Banihal Pass ?

(1) Jammu and Kashmir
(3) Laddakh

afarel &4 el W sTafed g 2
(1) 7 YT

(5) dEE

(2)
(4)

Himachal Pradesh
Uttarakhand

fear=a wewr
IWEIS

[Question ID = 154][Question Description = 224_APS3_23Dec_Set1_Shift1_Q124]

1. 1 [Option ID = 613]
2. 2 [Option ID = 614]
3. 3 [Option ID = 615]
4. 4 [Option ID = 616]



®) Which of these is a lagoon lake ?

(1) Pushkar Lake, Rajasthan (2) Panyong lake, Ladakh
(3) Chanduri Lake, Assam (4) Kayal, Kerala

T | B H A e €2

(1) TR, T () =, e

(3) =gl @™ (4) HEE,

[Question ID = 155][Question Description = 225_APS3_23Dec_Set1_Shift1_Q125]
1. 1 [Option ID = 617]
2. 2 [Option ID = 618]
3. 3 [Option ID = 619]
4. 4 [Option ID = 620]

6) Which of these is not a Dead or Extinct Volcano ?

(1) Mt Kilimanjaro, Tanzania (2) Popa, Myanmar

(3) Cotopaxi, Ecuador (4) Chimborazo, Ecuador
FIH gd U faqge sererge & § 2

(1) Mt frfafa=m, def=n (2) T, RIER

(3) hIRTUHH, IFER (4) ToHERTS, SHATER

[Question ID = 156][Question Description = 226_APS3_23Dec_Set1_Shift1_Q126]
1. 1 [Option ID = 621]
2. 2 [Option ID = 622]
3. 3 [Option ID = 623]
4. 4 [Option ID = 624]

7) The largest delta of the world is ;
(1) Mississippi Delta (2) Nile Delta
(3) Godavari Delta (4) Ganga Delta
fava o waifue favnme T<m@-yfa w8 w2
(1) foifedt Te@ - o (2) A TS -
(3) TR TETE (4) T R g

[Question ID = 157][Question Description = 227_APS3_23Dec_Set1_Shift1_Q127]
1. 1 [Option ID = 625]
2. 2 [Option ID = 626]
3. 3 [Option ID = 627]
4. 4 [Option ID = 628]

8) The Earth’s core mainly consists of

(1) Nickel and Ferrous (2) Silica and Magnesium

(3) Silica and Aluminium (4) Aluminium and Magnesium
JeAt % FR H g=F Y g B 2

(1) fra 1R HE (2) fafaem v F=iferm
3) fafes v wegfaf=m (4) ugfmfEm IR Ffem



[Question ID = 158][Question Description = 228_APS3_23Dec_Set1_Shift1_Q128]
1. 1 [Option ID = 629]
2. 2 [Option ID = 630]
3. 3 [Option ID = 631]
4. 4 [Option ID = 632]

%) Which is the World’s longest river ?

(1) Yangtze (2) Amazon (3) Nile (4) Mississippi
forva & wariferss ot 7t = i 22
(1) AR (2) ESIH (3) (4) foehfad

[Question ID = 159][Question Description = 229_APS3_23Dec_Set1_Shift1_Q129]
1. 1 [Option ID = 633]
2. 2 [Option ID = 634]
3. 3 [Option ID = 635]
4. 4 [Option ID = 636]

10)

Which of the following is the largest island of the World ?

(1) New Zealand (2) Japan (3) Greenland (4) Madagascar
forga § ety fowmel 519 99 Fel W R ?

(1) :E]?fllaﬂg (2) SUE (3) fervg (4) HETTRaRT

[Question ID = 160][Question Description = 230_APS3_23Dec_Set1_Shift1_Q130]
1. 1 [Option ID = 637]
2. 2 [Option ID = 638]
3. 3 [Option ID = 639]
4. 4 [Option ID = 640]

Topic:- APSHIN_CA_23DEC_S1

1)
The 2021 United Nations Climate Change Conference, COP26, was held in Glasgow in Oct-
Nov 2021. What is the full form of COP ?

(1) Conference of People (2) Conference of Pollution
(3) Conference of the Parties (4) Conference of Partnership

STeRza, Tareer 2021 H WY U Siereng YfEdd ¥e (COP) %hiY 26 1 STESH Wfrel | ga,
g HeM H &Y (COP) 1 fosga &9 #1 %2

(1) Conference of People (2) Conference of Pollution

(3) Conference of the Parties (4) Conference of Partnership

[Question ID = 161][Question Description = 231_APS3_23Dec_Set1_Shift1_Q131]
1. 1 [Option ID = 641]
2. 2 [Option ID = 642]
3. 3 [Option ID = 643]
4. 4 [Option ID = 644]

2)



Who has been appointed as new Prime Minister of Czech Republic ?

(1) Petr Fiala (2) Yair Lapid (3) Andrej Babis  (4) Naftali Bennett
Rl <en U T 141 FEFE <A TS ?
(1) e T 2) I afye (3) USH FES (4) FTETE S

[Question ID = 162][Question Description = 232_APS3_23Dec_Set1_Shift1_Q132]
1. 1 [Option ID = 645]
2. 2 [Option ID = 646]
3. 3 [Option ID = 647]
4. 4 [Option ID = 648]

3)
Recently, the fifth World Congress on Disaster Management (WCDM) has been held in which
of the following cities ?

(1) Seoul (2) Moscow (3) Delhi (4) Guwahati
frerfafaa ¥ § forg vret § sive) yeive W viwdl fava wRG (WCDM) sraifed & 7 &2
(1) Tasia (2) HIER (3) feeeit (4) TEERED

[Question ID = 163][Question Description = 233_APS3_23Dec_Set1_Shift1_Q133]
1. 1 [Option ID = 649]
2. 2 [Option ID = 650]
3. 3 [Option ID = 651]
4. 4 [Option ID = 652]

4)

What is the full form of OSOWOG, a green grid initiative of India and Britain ?
(1) One Source One World One Grid (2) One Sun One World One Grid
(3) One Source One World One Goal (4) One Sun One World One Goal

R e fags = | et siEEm’ (0SOWOG) &t fire #ew 3o 8, swie dey & sirdmEm
o+ fomga M FNE?

(I) One Source One World One Grid (2)  Omne Sun One World One Grid

(3) One Source One World One Goal (4) Omne Sun One World One Goal

[Question ID = 164][Question Description = 234_APS3_23Dec_Set1_Shift1_Q134]
1. 1 [Option ID = 653]
2. 2 [Option ID = 654]
3. 3 [Option ID = 655]
4. 4 [Option ID = 656]

®) Which country was the first to administer 1 billion Covid Vaccine Doses ?
(1) United States (2) United Kingdom
(3) India (4) China
foFE 29 & YUTEA A YUHd: 1 FS g IR S w1 HE R €2

(1) TS Ve (2) FEeE fHTen
(3) @ (4) =
[Question ID = 165][Question Description = 235_APS3_23Dec_Set1_Shift1_Q135]

1. 1 [Option ID = 657]
2. 2 [Option ID = 658]



3. 3 [Option ID = 659]
4. 4 [Option ID = 660]

6) Which of the following cyclones originated in Bay of Bengal ?

(1) Tauktae (2) Nisarga (3) Yaas (4) Yayu
A 1 WIET F FF H Fehard! gHH ke g 2
(1) () Fr (3) = (4) 7

[Question ID = 166][Question Description = 236_APS3_23Dec_Set1_Shift1_Q136]
1. 1 [Option ID = 661]
2. 2 [Option ID = 662]
3. 3 [Option ID = 663]
4. 4 [Option ID = 664]
7)
Name the longest serving Prime Minister in Japanese History who was awarded the Padma
Vibhushan in 2021 ?
(1) Yoshihide Suga (2) Shinzo Abe
(3) Fumio Kishida (4) Yoshihiko Noda
ST Sfer H 98 YUTHA i § (el Sreehet a9 ard <, 9 2021 ° YRA @ gR1 9gH faswor

qEERR 2021 H fezn wn §2
(1) ifes gm (2) fersm o
(3) FfEEN IR (4) nffeent e
[Question ID = 167][Question Description = 237_APS3_23Dec_Set1_Shift1_Q137]
1. 1 [Option ID = 665]
2. 2 [Option ID = 666]

3. 3 [Option ID = 667]
4. 4 [Option ID = 668]

8) How many Olympic medals has India won since 1900 ?

(1) 35 2) 34 (3) 33 @) 32
IRA ¥ 1900 ¥ 378 a9 il § foraw ves yre feu 872
(1) 35 2) 34 (3) 33 4) 32

[Question ID = 168][Question Description = 238_APS3_23Dec_Set1_Shift1_Q138]
1. 1 [Option ID = 669]
2. 2 [Option ID = 670]
3. 3 [Option ID = 671]
4. 4 [Option ID = 672]

9)



In Tokyo Paralympics (2020) games, India won gold medal in which of the following
events ?

(1) Men's High Jump (2) Men's Discus Throw

(3) Table Tennis (4) Shooting

2Afera Juafiaes, (2020) @ § wrd A Freafafea § 9 feg gfenfia § @l ges g fen 2
O GELE (2) S e

3) <fam 2fm (4) et

[Question ID = 169][Question Description = 239_APS3_23Dec_Set1_Shift1_Q139]
1. 1 [Option ID = 673]
2. 2 [Option ID = 674]
3. 3 [Option ID = 675]
4. 4 [Option ID = 676]

10) The new name of Facebook will be :

(I) Mepa (2) Meta (3) Peta (4) Zeta
g 1 A1 AT T Bl ST 2
(1) #m (2) W (3) (4) =

[Question ID = 170][Question Description = 240_APS3_23Dec_Set1_Shift1_Q140]
1. 1 [Option ID = 677]
2. 2 [Option ID = 678]
3. 3 [Option ID = 679]
4. 4 [Option ID = 680]

Topic:- APSHIN_UP_23DEC_$1

1)
When is Uttar Pradesh Day Celebrated ?

(1) 20 January (2) 09 November (3) 01 November (4) 24 January
IWR Y feay w1 SIeiisH %e g g ?
(1) 20 SHed (2) 09 FeFaR (3) 01 TEw= (4) 24 SFEd

[Question ID = 171][Question Description = 241_APS3_23Dec_Set1_Shift1_Q141]
1. 1 [Option ID = 681]
2. 2 [Option ID = 682]
3. 3 [Option ID = 683]
4. 4 [Option ID = 684]

2)

Where is the Nuclear Power Plant located in UP ?

(1) Etawa (2) Narora (3) Ghazipur (4) Barabanki
AT iferd 93 el T STafied § ?

(1) =2 2) T (3) TSGR (4) SRS

[Question ID = 172][Question Description = 242_APS3_23Dec_Set1_Shift1_Q142]
1. 1 [Option ID = 685]
2. 2 [Option ID = 686]
3. 3 [Option ID = 687]
4. 4 [Option ID = 688]



3
;’-‘t pottery cluster under SFURTI (Scheme of Fund for Regeneration of Tradational Industries)
scheme has been setup in which of the following cities of Uttar Pradesh ?

(1) Amethi (2) Varanasi (3) Agra (4) Kanpur
frefafed 9 4 39 yew & fohe 98 § ¥pfd  (SFURTI) (Scheme of Fund for Regeneration of

Tridational Industries) ST &% T&d Tk FHUFHR Fereed Tofud feFan § 2

(1) 3t (2) SR (3) & (4) HEAR

[Question ID = 173][Question Description = 243_APS3_23Dec_Set1_Shift1_Q143]
1. 1 [Option ID = 689]
2. 2 [Option ID = 690]
3. 3 [Option ID = 691]
4. 4 [Option ID = 692]

4)
changed the name of Prayag to Allahabad in 1583 AD.
(1) Akbar (2) Jahagir (3) Shah Jahan (4) Humayun
1583 § H AW <l A9 qREfdd R SeieEg EREE
(1) =S (2) SRR (3) STl (4) 7

[Question ID = 174][Question Description = 244_APS3_23Dec_Set1_Shift1_Q144]
1. 1 [Option ID = 693]
2. 2 [Option ID = 694]
3. 3 [Option ID = 695]
4. 4 [Option ID = 696]

5)
Recently how many wards of the Mathura-Vrindavan Nagar Nigam Area have been declared
as holy pilgrimage sites ?

(1) 20 2) 22 (3) 18 4) 26
A & H "yu-gared TR W & foran arel o1 ufas diel v sifva feran o €2
(1) 20 2) 22 (3) 18 4) 26

[Question ID = 175][Question Description = 245_APS3_23Dec_Set1_Shift1_Q145]
1. 1 [Option ID = 697]
2. 2 [Option ID = 698]
3. 3 [Option ID = 699]
4. 4 [Option ID = 700]

6) Saharanpur is famous for its :

(1) Glass Bangles (2) Panchkora toys
(3) Meenakari (4) Bone Carvings
HEYL forg jEloﬁ"-fl T iEsE % !

(1) = e (2) Y e
(3) AR (4) AR IshieA

[Question ID = 176][Question Description = 246_APS3_23Dec_Set1_Shift1_Q146]
1. 1 [Option ID = 701]
2. 2 [Option ID = 702]
3. 3 [Option ID = 703]



4. 4 [Option ID = 704]

7)

The famous folk song is sung during the month of Savan.

(1) Birha (2) Sohar (3) Kajri (4) Kaharwa
Hre A | fore g ik Hitd =i TR S © 2

1) foa (2) H= (3) el (4)

[Question ID = 177][Question Description = 247_APS3_23Dec_Set1_Shift1_Q147]
1. 1 [Option ID = 705]
2. 2 [Option ID = 706]
3. 3 [Option ID = 707]
4. 4 [Option ID = 708]

8) The famous Thumri Singer Girja Devi was associated with which gharana ?

(1) Banaras Gharana (2) Kirana Gharana
(3) Lucknow Gharana (4) Rampur Gharana
g g T Ff S fa R e Y e T

(1) =IRE 9 (2) R S

(3) ETEH =T (4) THYL =LA

[Question ID = 178][Question Description = 248_APS3_23Dec_Set1_Shift1_Q148]
1. 1 [Option ID = 709]
2. 2 [Option ID = 710]
3. 3 [Option ID = 711]
4. 4 [Option ID = 712]

%) Where was the first paper mill of Uttar Pradesh established in 1879 ?

(1) Kanpur (2) Lucknow (3) Meerut (4) Agra
1879 H I We¥ o Aiq WerH Yo el Y T el i ?
(1) =TI (2) @IS (3) WS (4) ST

[Question ID = 179][Question Description = 249_APS3_23Dec_Set1_Shift1_Q149]
1. 1 [Option ID = 713]
2. 2 [Option ID = 714]
3. 3 [Option ID = 715]
4. 4 [Option ID = 716]

10)

India’s largest “electronic city” is under construction near :

(1) Meerut (2) Lucknow (3) Kanpur (4) Greater Noida
W o faremeras faedia wew form wom o g fafifa e s @ &2

(1) ¥ (2) WEAS (3) HEAY (4) U AT

[Question ID = 180][Question Description = 250_APS3_23Dec_Set1_Shift1_Q150]
1. 1 [Option ID = 717]
2. 2 [Option ID = 718]
3. 3 [Option ID = 719]
4. 4 [Option ID = 720]









